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AS QUESTÕES DE 31 A 40 REFEREM-SE A LÍNGUA ESTRANGEIRA

VOCÊ DEVERÁ OPTAR POR UM DOS IDIOMAS

(INGLÊS – PÁG.20 OU FRANCÊS – PÁG.24)

LÍNGUA INGLESA ( QUESTÕES DE 31 A 40

Has technology ruined childhood?
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Today, parents are increasingly worried about the safety of their children, and because of this, they are not letting their children out to play. As a result, children are no longer playing outside but shutting themselves away in their rooms and losing themselves in individualistic activities such as television viewing and computer games.

Yet, if they had the chance, they would rather get out of the house and go to the cinema, see friends or play sport. In fact, when asked what their idea of a good day was, only 1 in 7 said that they would turn on the television.

British teenagers have always retreated to their bedrooms, leaving the younger children to play in communal spaces such as the sitting room, garden or kitchen. However, children from the age of 9 are now turning to their bedrooms as a place to socialise.

Bedroom culture is a phenomenon of the past 20 years with families getting smaller and homes getting more spacious. Increasing prosperity has also contributed to the rise of the bedroom culture.

Of British children aged 6 to 17, 72% have a room they do not have to share with a sibling, 68% have their own music installation, 34% have an electronic games controller hooked up to the television, 21% have a PC. Only 1%, on the other hand, have an Internet connection in their bedroom.

On average children devote 5 hours a day to screen media. Even so, only 1 child in 100 can be classed as a real screen addict, a child who spends a worrying 7 hours or more watching TV or playing computer games.

Although children generally have a few favourite programmes, they mostly use television to kill time when they are bored and have nothing special to do. Moreover, the distinction between individualistic media use and social activities such as chatting with friends is less extreme than is commonly assumed. Children gossip about television soap characters, make contact with other children on the Internet, and visit friends to admire their new computer games.
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As the use of PCs proliferates, reading skills are expected to suffer. Nevertheless, 57% of children say they still enjoy reading, and 1 in 5 teenagers can be classed as a book-lover.

As a result of the bedroom culture, it is becoming rarer for children over the age of 10 to watch television with their parents. Once in their rooms, children tend to stay up watching television for as long as they wish. Consequently it is getting harder to control children’s viewing.

One father told researchers that he drew the line at 9 pm. His son, on the other hand, said: “They tell us to go up at about 9.30 or 10 or something, and then we just watch until they come up and tell us to switch it off at 11 or 11.30.”

31.
According to the text, parents are not letting their children play outside because:

a)
today’s children like watching television.

b)
today’s children do not like to play out of the house.

c)
children prefer to stay only in their rooms watching TV.
d)
they believe their children have nothing to do.

e)
they’re worried about violence against their children.
32.
According to the text, all of the following factors have contributed to the rise of bedroom culture, EXCEPT:
a)
The houses are not as small as they used to.
b)
Families are not as big as they were 20 years ago.
c)
Children do not like reading anymore.
d)
The number of rich families have increased.
e)
Increased use of technology in bedrooms helps socialisation.
33.
According to the text, as a consequence of bedroom culture, it can be said that:
a)
children do not socialise anymore.

b)
parents can’t control the programs children watch.
c)
parents and children are watching more TV together.

d)
most children do not have an internet connection.

e)
children do not enjoy outdoor activities.

34.
Read the following sentences and decide if they are true (T) or false (F) according to the text:
(   )
All British children and adolescents have a room only for themselves.




(   )
Children need to devote an average of 5 hours watching TV to be classified as a real screen addict.




(   )
Children older than 10 are watching less TV together with their parents.




The CORRECT sequence is:

a)
F, F, T.

b)
F, T, T.

c)
T, F, T.

d)
T, T, F.

e)
T, F, F.

35.
In the sentence “children tend to stay up watching television for as long as they wish” (line 38), the underlined expression means:
a)
stay out.
b)
stand up.

c)
stop.

d)
stay awake.

e)
sleep.

36.
In the sentence, “Moreover, the distinction between individualistic media use” (lines 28 and 29), the underlined word expresses an idea of:
a)
conclusion.

b)
contrast.

c)
comparison.

d)
consequence.

e)
addition.
37.
Match the words in column 1 to their referents in column 2:
1. they (line 2)


(    ) television

2. themselves (line 3)

(    ) father

3. their (line 32)


(    ) parents

4. he (line 40)


(    ) children

5. it (line 43)


(    ) friends

The alternative that shows the CORRECT order is:
a)
4, 5, 1, 2, 3.

b)
5, 4, 1, 2, 3.
c)
4, 1, 2, 5, 3.

d)
5, 4, 2, 3, 1.

e)
5, 3, 2, 1, 4.

38.
Choose the alternative in which the underlined –ing form is an example of the present continuous:
a)
“a child who spends a worrying 7 hours or more” (lines 23 and 24)
b)
“Increasing prosperity has also contributed to the rise of” (lines 15 and 16)
c)
“children from the age of 9 are now turning to their bedrooms” (lines 12 and 13)
d)
“children say they still enjoy reading” (line 34)
e)
“harder to control children’s viewing” (line 39)
39.
All the alternatives below are examples of comparatives, EXCEPT:
a)
younger (line 11)

b)
controller (line 19)

c)
rarer (line 36)

d)
harder (line 39)

e)
smaller (line 15)

40.
Choose the alternative which presents BOTH examples in the passive voice:
a)
“is commonly assumed” (lines 29-30); “can be classed” (line 23)
b)
“has also contributed” (line 16); “have always retreated” (line 10)
c)
“is commonly assumed’ (lines 29-30 ); “has also contributed” (line 16)
d)
“can be classed” (line 23); “have always retreated” (line 10)
e)
“is commonly assumed” (lines 29-30); “have always retreated” (line 10)

